£ THIDSTUNiveE Ul suive s yut
% of & thisnumber of puzzles correct
Solvery 2 |52[ 2]
& |8 151
11 |50
15 |49
98 | 16 |48
16 |47
10 |46
15 |45
6 (441
18 |43
95 | 22 |42|1
9 |41
15 |40| 1
11 |39
20 |38
16 |37
11 |36
9 [35 1
13 |34 1
90 | 13|33 1
15 |32 1 1]1]2
9 (31 1
15 |30 1 1
13 |29
16 |28 1 1 1)1
22 |27 1
23 |26
85 | 17 |25 1 1 1
8 |24 1 1
19 |23 2 4
15 |22 1
17 |21 1)1 2
20 |20
20 |19 1
17 |18
80 | 21 |17 1
14 |16 1
11 |15 1
25 |14
20 |13 1(1
24 |12 1 2
21 |11
75 | 32 |10 1
29
34
31
70 | 43
65
78
60 |136
50 |284
891
299

© Listener Team 2003

N

Of the 55 prizes 3 won2
49 wonl
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